Roll No.

(Write Roll Number from left side
exactly as in the Admit Card)

PAPER-II

Subject Code : 26

2612024

Signature of Invigilator

Question Booklet Series X

Question Booklet No.

ANTHROPOLOGY

Time : 2 Hours

Maximum Marks: 200

Instructions for the Candidates

AT Gy [rrTEnt

1. Write your Roll Number in the space provided on the top of this page S ‘ﬂi"ﬁﬂ? Tifarerem FiMe 21 @9 OMR #Itad Wfe e Fee
as well as on the OMR Sheet provided. G A (Roll Number) %{%{WI
2. At the commencement of the examination, the Question Booklet will 2 ﬂ%‘iﬂ? Z{E‘W—f M@‘W (Booklet) SII?9ICF (el 2CI | G
be given to you. In the first 5 (five) minutes, you are requested to @ (+f15) B 2Paista-sifF<elfl (Booklet) 31 ke it 1512 <ot
open the booklet and verify it: (S Gelj AN S F 0% ¢
. . @) M%—W (Booklet) TE (S 2627 ‘déﬁ 4 (cover page)
(i) II:) ?}?gee 32621 tt(;1 ;SCCOQJI;SUZHGBOOMCL tear off the paper seal ol FISNE TS SIS e 2|
& page. (i) W eieig-ifei (Booklet) @oye asw feifae =3, wiegs
(ii) Faulty booklet, if detected, should be got replaced immediately AT W 29w Jin WG S A9 sl @i Al
by a correct booklet from the invigilator within the period of ﬁﬁ?{@—-{ﬁ;ﬁﬁ (Booklet) @1l 2fezifie e (icae | @3 @
5 minutes. Afterwards, neither the Question Booklet will be A (@ Ol @ﬁq@_m (Booklet) @feZi#i« <1 1ica =11 |
replaced nor any extra time will be given. e Sfelae e @eA @ |
(iii) Verify whether the Question Booklet Number is identical with (iii) - 2Pi71@-5JfTFI (Booklet) €9k OMR #1084 ¥ WA WAl w1
OMR Sheet Number; if not, the full set is to be replaced. W TR GO | TR ST LI 3 icf & G\B ISR
IACO 2T
(iv) After .this verification is over, the Question Booklet Series and @iv) 53 ‘,Tapm/ == Zfﬁﬂ@-‘?{%@?f (Booklet) Bifre @92 oo
Question Booklet Number should be entered on the OMR Sheet. ?IT:@W (Booklet) =T OMR #icq Fifoiam a0 2|
3. This paper consists of One Hundred (100) multiple-choice type questions. ©, @3 sfafre 9 (S00)- aﬁﬁ Taus o (Multiple-choice type
All the questions are compulsory. Each question carries rwo marks. questions) TEE | Afel 2= Tea 41 St | 2ot aosa s ﬁl
4. Each Question has four alternative responses marked: 8. ofofb erem Tewamat bl e (Circl/e) e 5 Ued TR ¢
, o @ ® © (D) feffe FoHms SomE 7w Teba
@ @ @ . You have to darken the circle as indicated S T S FACS |
below on the correct response against each question T P
. ‘ erzarz (A) (B) @ (D). @i s Tea (C) |
Example: @ . @ , where ©.1s .the correct resp.onse. €. SR (el Asid 9 Sea e @F OMR mﬁ%m&%m‘m
5. Your responses to the questions are to be indicated correctly in the = | OMR #Itad e e 3@ Tex e @ iee W@Tm@
OMR Sheet. If you mark your response at any place other than in [
the circle in the OMR Sheet, it will not b luated. R
6 Rs CII:C eolrrli 'seto be doneeZt tlhewelndn(())f thiseljZofl:t v ¥ (Booklet) (1 SIKC AT & (rough work) S |
. ugh work i .
g a. OMR I0@d s 7t e wey 2w arsre weife f sfefe @mme
7. Iff y(})lu wor;\t; Ryosukll' Name, Phor}e N}llxmber or p;llt anﬁ r?ark l(l)n anly part e w2l q2— IS, G TH G0 TR G (IS 3@,{_\9 o
0 [t. e e eeté.eﬁcept in t.§ sgatlce a otteb or tl e relevant A G I Y esTe #IfE5% e 20 A w2l (e Sasiei
o, iy dlone o ety s g o | 150 s S s 3 < v i
screIi)tc}zlin )(/)r using white fluid ’ ou will renderg ourselfpliable tz fice <1 it <efet Gy el AfOETR DT v 2, SA
crateing or using Y Y Sl Tereid AT T AR AR |
disqualification. s .
8. Do not tamper or fold the OMR Sheet in any way. If you do so, your v. OMR #a0 (IS ST O FACI Al A WIS FHCT 7Tl | GICFCA
OMR Sheet will not be evaluated. SR OMR ~fefb Fpifire 2 4|
9. You have to return the Original OMR Sheet to the invigilator at the 5. AR Y T SAMRE I 2058 (Original) OMR 1l #{3ee sAfsvecs
end of the examination compulsorily and must not carry it with you ol s 2@ G @ie o @b AT Fewa iR fNoea e
outside the Examination Hall. You are, however, allowed to carry WWWIW@WWW@?@WMZW@W (Booklet)
question booklet and duplicate copy of OMR Sheet after completion '8 OMR /69 &= (Duplicate) <SG e 7105t <2 w0 e e
of examination. AR |
10. Use only Black Ball point pen. So. WY@ FICA I AT (o7 JIQA FAE |
11. Use of any calculator, mobile phone, electronic devices/gadgets 3. (FINE AT W?, GRS (I, SRR T
etc. is strictly prohibited. (Teeizn/ameesa Tojifv) ez FeoieiE e
12. There is no negative marks for incorrect answer. SR. WW&?W @FIe T (AT (Negative) 199 (WeHl T N |
32954 [ Please Turn Over ]



The Question Booklet
is encrypted with
QR code for
security purpose.

eisolg #BSI0 Fatered
JEC QR (FI© Q!
G5 T4 2|




X-3

ANTHROPOLOGY

1. Which of the following anthropologists

2. Procrustean

attributed female subordination to the
division of between public and domestic
spheres and the systematic devaluation
of ‘domestic’ in many cultures?

(A) Marilyn Strathern

(B) Margaret Mead

(C) Zora Neale Hutson

(D) Michelle Rosaldo

approach in reseach

methodology refers to

(A) manipulation of data to fit the
theory.

(B) changing the theory to explain the
data.

(C) field view over the book view.

(D) manipulating the sample size to
increase the reliability of the
findings.

3. ‘Use Value’ in economic anthropology

refers to

(A) Practical Value
(B) Market Value
(C) Exchange Value
(D) Barter Value

4. Different parts of culture change at

different rates. Material culture changes first and
belief system may be the last to change. This
phenomenon is known as

(A) Cultural gap

(B) Cultural lag

(C) Cultural conservatism
(D) Cultural struggle
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26 X-4

5. Match the items of List-I with those of
List-1I

List-1 List-11

(a) Componential (i) Fred Eggan
Analysis

(b) Social Network (i1)) Ward H.
Analysis Goodenough

(c) Controlled (i11) John A.
Comparision Barnes

(d) Transactional (iv) Fredrik Barth
Analysis

Codes:
@ o © @
A) Gy (@) (i) @Gv)
B) @Gi) (@ () aGv)
© @Gi) G @ @)
D) Gy G @ Gv)

6. The term tabula rasarefers to the theory that

(A) human behaviour and understanding
are universal.

(B) genes control behaviour.
(C) human culture is shared.

(D) human behaviour and understanding
are derived from learning.

7. In Morgan’s classification of
kinship system, the most complex ‘type’, wherein
there is no merging of kinship terms is called as

(A) Eskimo

(B) Hawaiian
(C) Iroquois
(D) Sudanese

5. OIfFm-1-93 A G-I G ¢

Oiferer-1 OIferer-Il
(a) IACNEEERE (1) @ Q9=
iRy
(b) GI THETF (i) STE G2
SieifeomT YOGS
(c) FTGETT (iii) S @ AT
(d) GPTREE  (iv) @elss e
SPIfERP

(P8
@ G @© @@
A) Gy @ @G (Gv)
B) Gi) @ G (Gv)
© G @G) @@  @>Gv)
D) G @) G 3Gv)
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8. Brahui, a language spoken in Iran belongs
to the linguistic family of

(A) Indo-European
(B) Dravidian

(C) Austro-Asiatic
(D) Mon-Khmer

9. Cultural theory of risk is attributed to
(A) David Schneider
(B) Sherry Ortner
(C) Renato Rosaldo
(D) Mary Douglas

10. The concept of ‘agriculture involution’ is
attributed to

(A) Clifford Geertz
(B) Morton Fried
(C) George M. Foster
(D) Robert Redfield

11. Theconceptofsymbolic capital isassociated
with
(A) Michel Foucault
(B) Pierre Bourdieu
(C) Marcel Mauss
(D) Jacques Derrida

12. Wholooked at the caste system primarily as
a ‘system of ideas’?

(A) M.N. Srinivas
(B) McKim Marriott
(C) Louis Dumont
(D) D.N. Majumdar
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13. Match the items of List-I with those of
List-1I

List-1 List-11
(a) Cora Dubois (i) Japanese National
Character
(b) Margaret  (ii) Samoan
Mead Socialisation
(¢) Ruth (iii) People of Alor
Benedict
(d) Childand (iv) Child training in
Whiting six cultures

Codes:
@ @b (© (@
(A) i) (1) (@) (v)
B) @Gv) @) @ (i)
© Gi) @G @G Gv)
(D) Gi) @) Gv) @)

14. Max Weber is associated with the
concept of

(A) Social Structure
(B) Social Organisation
(C) Social Change

(D) Social Action

15. The contemporary orientation of social-
cultural anthropology is more inclined towards

(A) Ideographic principles
(B) Nomothetic principles
(C) Positivism

(D) Reductionist approach

16. Post-marital residence of couple at paternal
aunt’s house is called as

(A) Uxorilocal
(B) Amitalocal
(C) Avunculocal
(D) Ambilocal

13. ©fe=-1-a3 AT Oferm-1I-& (el ¢

©ifere-1 OIferer-Il
(a) @7 (i) SR STor piaa
ORIRISADY (i) AR ATl
(c) ¥ @AWCE (i) (2] == =i
(d) v e @Rl (iv) =l scghers e
IR
(T2

@ G @© @@
A) Gy @ @G (Gv)
B) @Gv) (i) @@ ()
© Gy G @  >Gv)
(D) G @) Gv) @
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(A) GIPTE o=
(B) GIMIe wIsfieizremis
(C) G (5%
(D) GAPTIT Si=ie
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17. Who among the following Indian
anthropologists did pioneering work in Visual
Anthropology?

(A) M. Jha
(B) K.N. Sahay
(C) R.S. Mann
(D) L.K. Mahapatra
18. Who first coined the term ‘public
anthropology’?
(A) Arturo Escobar and Eric Wolf
(B) Robert Borofsky and Renato Rosaldo

(C) Robert Borofsky and Napolean
Chagnon

(D) ArturoEscobarand Arjuna Appadurai

19. The concept of ‘Limited good’ with
reference to the study of peasant societies was
advanced by
(A) G.M. Foster
(B) R. Redfield
(C) Eric Wolf
(D) Sol Tax

20. Given below are two statements, one is
labelled as Assertion (A) and the other is labelled
as Reason (R):

Assertion (A) : Ritual kinship is a kind of
fictive kinship.

: Fictive kinshipisapseudo-
kinship that includes
relationship between
unrelated people.

In the context of the above statements,
which of the following is correct?

Codes:

(A) Both (A)and (R) are correct, and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A).

(C) (A)is correct, but (R) is incorrect.
(D) (A) is incorrect, but (R) is correct.

Reason (R)
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21. A phratry is composed of
(A) several lineages.
(B) several clans.
(C) several sub-tribes.

(D) several moieties.

22. Given below are two statements, one is
labelled as Assertion (A) and the other is labelled
as Reason (R):

Assertion (A) : Shifting cultivationinvolves
burning of forest, leading
to soil erosion and
deforestation.

Reason (R) :Burning of forest is
followed by regeneration
of green cover during
fallow period.

In the context of the above statements,
which of the following is correct?

Codes:

(A) Both (A) and (R) are correct, and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are correct, but (R) is
not the correct explanation of (A).

(C) (A)is correct, but (R) is incorrect.
(D) (A) is incorrect, but (R) is correct.

23. Identify thebooks authored by Edmund Leach:

(i) Political Systems of Highland
Burma

(i1)) Himalayan Traders
(iii) Caste and Kinship in Central India
(iv) Rethinking Anthropology

Codes:
(A) (i) and (ii)

(B) (i) and (iii)
(C) (i) and (iv)
(D) (i1) and (iii)
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24. In the preparation of research design,
arrange the following stages in correct order:

(i) Pilot study and pretesting
(ii) Literature survey
(iii) Analysis of data
(iv) Formulation of hypothesis
(v) Fieldwork and data collection
Codes:
(A) (@v), (i1), (1), (v), (iii)
(B) (i), (iv), (1), (iii), (v)
(©) (i), (iv), (1), (v), (iii)
(D) (i), (iv), (iii), (1), (v)

25. “Structure of a language influences its
speakers’ world view or cognition.”— This was
proposed by

(A) Dell Hymes
(B) Sapir-Whorf
(C) J. Derrida
(D) F. de Saussure

26. Which one of the following is not correctly
matched?
(A) T. Beidelman — Jajmani System
(B) J. Nesfield — Occupational Theory
of Caste
(C) D. Mandelbaum — Case Study
Method

(D) B. K. Roy Burman — Bridge and
Buffer Communities

27. Thebook, ‘Philosophy forN. E. F. A.”, was
authored by
(A) N.K. Bose
(B) J1.P. Mills
(C) C. V. Furer-Haimendorf
(D) V. Elwin
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28. ‘Role Analysis’ was undertaken in the book
‘The Theory of Social Structure’ authored by

(A) C. Lévi-Struass
(B) S.F.Nadel
(C) A.R.Radcliffe-Brown

(D) E.R. Leach

29. Which two of the following come under
probability sampling?
(1) Quota sampling
(i1) Cluster sampling
(iii) Theoretical sampling
(iv) Multi-stage sampling
Codes:
(A) (i) and (ii)
(B) (ii) and (iii)
(C) (i) and (iv)
(D) (i) and (iii)
30. A researcher enters a tribal
community with the intention of studying
child marriage without revealing the

purpose and identity. This goes against the research
ethics because

(A) child marriages are prohibited
by law.

(B) the principle of ‘informed
consent’ was not followed.

(C) theresearcherisnotan ‘Action
anthropologist’.

(D) theresearcher did not spell out
how the informants would be
compensated.

31. Which one of the following

statements is not true with regard to

Jajmani system?

(A) Itisasystem of exchange of goods
and services.

(B) Mutual obligations exist between
families and castes.

(C) Paymentsare hereditarily fixed and
are in kinds.

(D) Itinvolvesall the castes throughout
India.

X-10
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32. Given below are two statements, one is
labelled as Assertion (A) and the other is labelled
as Reason (R):

Assertion (A) : Bride-price in tribal
societies consists of
payment made to the
bride’s group by the
groom’s group for the loss
of productive member.

: Tribal societies were
originally matriarchal and
bride-price has been
continuing since those
days.

Reason (R)

In the context of the above statements, which one
of the following is correct?
Codes:
(A) Both (A) and (R) are correct, and
(R) is the correct explanation of
(A).
(B) Both (A) and (R) are correct, but
(R)isnot the correctexplanation of
(A).
(C) (A)is correct, but (R) is incorrect.
(D) (A)is incorrect, but (R) is correct.

33. Culture is viewed as an entity above man,
not reducible to the actions of individuals,
mysteriously responding to the laws of its own.
This view comes under the label of

(A) Patterns of Culture

(B) Configurations of culture growth
(C) Psychic unity of mind

(D) Superorganic

34. The provisions of the Vth schedule come
under which Article of the Indian Constitution?

(A) 242 (2)
(B) 244 (1)
(C) 342

(D) 242 (1)
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35. Sarat Chandra Roy wrote monographs on
which of the following tribes?

(i) Juangs
(i1) Birhor
(iii) Hill Bhuiyas
(iv) Kharia
(A) () only
(B) (ii) and (iii) only
(C) (1) and (ii) only
(D) (ii), (iii) and (iv) only

36. Match the items of List-I with those of

List-II
List-1 List-11
(a) Ojha (1) Lodha
(b) Bhopa (i) Oraon
(c) Bhagat (iii) Gujjar
(d) Byakra (iv) Santal
Codes:
(@ (b) (©) (d)
(A) (v) (@) (i) (1)
B) (v) (i) (1) (iii)
© G © (i) (@)
D) @i) @) i)  Gv)

37. Which of the following tribes has
been reported to have the practice of Couvade?

(A) Khasi
(B) Asur

(C) Kharia
(D) Santal

35, «aom AW FHE @ Sfradom Sem
RN IO FECRS ?

(i) TR

(i) f=czre

(iii) &= g2l

(iv) <
(A) FI=T9 (i)
(B) (9eTa0lE (ii) @ (iii)
(C) (<TG (1) € (i)
(D) (TG (i1), (ii1) € (iv)

36. ©feF- 97 AT GferE-ll (eI ¢

Ol ©ifere-11
(a) &N () el
(b) celefl (i) eae
(c) ©5® (iii) @&
(d) =t (iv) HewE

G

@ G @© @@
A) @Gv) aGi) @ @O
B) Gv) @ @ (i)
© Gy @ @) (Gv)
D) (i) @ G (Gv)

37. E @S (s e Frecew 291w
Ergd A Sl T3 2

(A) A5
(B) ®ris
(©) e
(D) ewE




38. ‘... discussions about various forms of
sharing anthropological knowledge outside
academica are moving to the centre of
anthropological academic discourse’—

this quote best delineates which of the

following sub-discipline?
(A) Action Anthropology
(B) Popular Anthropology
(C) Engaged Anthropology
(D) Public Anthropology

39. Which of the following are the expected
outcomes of Participatory Rural Appraisal (PRA)?

(1) List of development priorities of
the people
(i) Resource maps and demographic
maps
(iii) Large volume of quantiative data
(iv) Generation of concepts and
theorization

Codes:

(A) (i) and (ii)

(B) (i), (ii) and (iii)
(C) (iii) and (iv)
(D) (ii), (iii) and (iv)

40. The transfer of office or social position
is called

(A) Descent
(B) Filiation
(C) Succession

(D) Inheritance

41. Who among the following is not
associated with the development of methods to
study human somatotype/physique?

(A) W. H. Sheldon
(B) J.E. L. Carter
(C) Karl Pearson
(D) R. W. Parnell
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38. ‘... discussions about various forms of
sharing anthropological knowledge outside
academica are moving to the centre of
anthropological academic discourse’— ©gfefb
A RGN I ToRIIE A S 0o @R
23?

(A) S SieClisefer
(B) 17 Ia SriwLioele
(C) GeoTers Syiereli=ierer
(D) #I7fers SpeCisie e

39. FEa @G/ @msi Nbhebi wam
wifeRee (fof oz @) 2ifefs e ¢

(i) TS SRR SfEFIE wiferl

(il) I @ GRS Teiba

(iii) 2R3 AR 2R ©2

(iv) 4179 @ ©rgd Teofva

(FIT 8

(A) () (i)
(B) (), (i) ' (iii)
(©) (11) 8 (iv)
(D) (1), (111) 8 (1v)

40. AN SZ T SAFER BT & 2
A) T
(B) Tt
(C) AT
(D) R

41. =K EINIGIGR/ (72 510 L 19wt

SR A WHT (&I IS I 7 2
(A) ©fFS. @2p. (<7
(B) (%. 3. &1, FoIA
(C) et forzmme
(D) W3 TfFS. siieefer
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42. Match the items in List-I with those of
List-11. Use the codes given below:

List-1 List-11
(a) Homo (i) Olduvai Gorge,
floresiensis Tanzania
(b) Sahelanthropus(ii) Liang BuaCave,
Indonesia
(¢) Orrorin (i11) Toros-Menalla,
Chad
(d) Paranthropus (iv) Tugen Hills,
boisei Kenya
Codes:
@ @B @© @
(A) (i)  (v) () (D)
B) Gi) @) Gv) (i)
©) Gi) (@) Gv) @)
(D) @G (@Gv) () (i)

43. Which of the following is a 3-component
model of studying body composition?

(A) Skinfold thickness measurement
(B) Bioelectrical Impedance Analysis
(C) Hydrodensitometry

(D) Dual-energy X-ray Absorptiometry

44. Match the items of List-I with those of
List-11. Use the codes given below:

List-1
(a) Antecedents of Man

(b) The Decent of Man,
and Selection in
Relation to Sex

(c) Blood Groups in Man (iii) Charles Darwin
(d) Man the Tool Maker (iv) R. R. Race and

List-11
(i) K.P. Oakley
(i1) W. Le Gros Clark

R. Sanger
Codes:
@ G © @@
A) (i) @  Gv) (1)
B) Gv) @ @ (i)
© Gy @) Gv) @
D) @ G @G (Gv)

42. OfeTA-1-a3 A OIfFTRHI-F (T ¢
oifere-1 GEas |
(a) @I (i) &g 5,
(b) ezemiaee=icT (i) Tk I3 @&,
EQaCITRl

(111) COTCIA-CTTIE,
RIg

(iv) ool Tz,
et

(c) ST

(d) =s1ecen=i>
S Eh
P 8
(a)
(A) (iii)
(B) (iii)
© G @Gy Gv) @
D) () av) (@) i)
43. TR A (77 5o SRR 3-FACATETS
SO 2

(b)
(iv)
(i)

(©)
(1)
(iv)

(d)
(ii)
(ii)

(A) & @ 7y sl

(B) JRREAFZHI 20w Syt
(C) GITAGIET

(D) TR IS X~ Spimeifres

44, ferp--9F AT O~ e ¢

w1 el
(a) STHEICSS SF N (1) & . eF
(b) 7 s o e, (i) ©fFS. & a4 F1F
G FHeTe 2
REME T o™
(c) MG 2koR] 2 S
(d) SO W GeT Greist

(iii) BT TS
(iv) W, 9. 1 @
(T

(a)
(iii)
(iv)
(ii)
(1)

(b)
@)
(ii)
(iii)
(ii)

(©)
(iv)
(1)
(iv)
(111)

(d)
(ii)
(ii1)
()
(iv)

(A)
(B)
©
D)



45. Given below are two statements, one is
labelled as Assertion (A) and the other is labelled
as Reason (R):

In the context of these which one of the
following is correct?

Assertion (A) : When a healthy person is
exposed to high altitude,
body responds by showing
some physiological
changes such as increase
in pulmonary ventilation
and red blood corpuscles.

: These changes increase the
efficiency of oxygen
absorption from the
atmosphere and its
assimilation in body
tissues.

Reason (R)

Codes:
(A) (A)is correct, but (R) is incorrect.
(B) Both (A) and (R) are correct, and
(R) is the correct explanation of
(A).
(C) (A)isincorrect, but (R) is correct.
(D) Both (A) and (R) are incorrect.

46. The study of human size, shape, proportion,
composition, maturation and gross function in
order to understand exercise, performance and
nutrition is known as

(A) Auxology

(B) Body composition
(C) Kinanthropometry
(D) Somatotyping

47. The ultimate matching of two fingerprints
of the same person is based on

(A) comparison of the number of triradii.

(B) comparison of the ridge count.

(C) comparison of the ridge characteristics
(minutiae).

(D) comparison of the pattern types.
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45. T 1o & oredl S @3 [ (A),
19176 #179 (R) ZoT ffes; «3 sifxcafes Soa
@ @ 5 ¢

3o (A) ¢ T4 @I SFEa S
afe wifds Sweim Tlw, o
ARG (7! T 97 T, @
TGN (SO (T T S &I

TGFAPIF TR AT |
FFU(R) ¢ (MEA (FRTR B (oIS
ARG SIS AT (A
A% T ITEFAO] 3 ARTS
T e AR |
W.

(A) (A) 73, [ (R) 70 77|

(B) (A)8 (R) TorE Mo, 932 (A)-431
AT At 25 (R) |

(©) (A) 7= 77, 58 (R) 75 |

(D) (A) € (R) @IIDE AT 717 |

46. I3, ATFIC € GRS @RF

ey W HRNCED S, ST, TS,
Tofiel/ siee, “Afelfs @ Amfes sRrer Sgz=E
BRI

(A) SIS

(B) 3G Fr=siifemi
(C) e
(D) GGG

47. 933 & Yo SAPER B0 CRRE 5w
el 271 TR fofers, ©f 261
(A) FREGE-9F AU werl
(B) faer SISCHa worl
(C) fatem @R goml (ifef)
(D) BB «mefera wal
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48. The tendency, over the last 100 years, for
each succeeding generation to grow larger and
mature earlier is termed as
(A) Catch-up growth
(B) Growth gradient
(C) Secular trend
(D) Homeorhesis

49. Arrange the following landmarks in
cephalo-caudal sequence/direction:
(A) Metopian — Prosthion —
Pronasale — Trichion — Nasion
— Glabella — Gnathion

(B) Nasion — Gnathion — Glabella
— Metopian — Pronasale —
Prosthion — Trichion

(C) Trichion — Glabella — Metopian
— Nasion — Pronasale —
Prosthion — Gnathion

(D) Trichion — Metopian — Glabella
— Nasion — Pronasale —
Prosthion — Gnathion

50. Species inhabiting different geographical
regions are known as

(A) Sympatric species
(B) Allopatric species
(C) Bio-species

(D) Sibling species

51. The creator of the ‘Piltdown Hoax’ was
(A) Charles Dawson
(B) James Hutton
(C) George Simpson
(D) Raymond Dart

X-16

48. 5% 100 =23 TEc e eermeferd s @
s I @ SAfKioiFel I0e s TP QiR ST 9ol
72l FCPE, O e 2

(A) 15 =09 callel
(B) i St
(C) CIF=Te @
(D) @fretahr

49. fgfafie apeTtelaE EwiE-seE
TGN AT GG A ¢
(A) FIGIPTE — awfee — (ARies —
v — @ — aiEe — Wifew
(B) &fewe — wpifess — aift@en —
BRI — (2pIeTe] — afre —
o=
(C) Gvas— aime — e — @ e
— cAeE — 2wfeEs — e
(D) Bios — @it — ai@e — @ieme
— cAEE — gwfeEs — e

50. ffeq Sianfers S PRPER awiforma
e =
(A) PrEeGs aeife
(B) wnitsienGe aenfs
(C) I-F=fm
(D) Prafere F=ifp

51. ForoUeH (@ -93 TB Z(E
(A) BT T
(B) (&30 =54
(C) & P
(D) @S ©io



52. Who among the following primatologistsis
widely known for undertaking extensive study of
mountain gorilla groups in the wild?
(A) Elwyn Simons
(B) Dian Fossey
(C) Jane Goodall
(D) Comte de Buffon

53. The largest known non-human fossil
primate is

(A) Lufengpithecus lufengensis
(B) Sivapithecus indicus

(C) Dryopithecus fontani

(D) Gigantopithecus blacki

54. When the rates of evolution in one
functional system differ from those of
the other systems of an organism, it is called

(A) Convergent Evolution
(B) Punctuated Equilibrium
(C) Mosaic Evolution

(D) Parallel Evolution

55. Middle Miocene ape Dryopithecus was first
discovered by whom and from where?

(A) G.E. Lewis from the Siwaliks of
India

(B) E.L.Simons from Fayum of Egypt
(C) E. Lartet from Southern France
(D) H. Falconer from Northern Italy

56. Dental formula of Tarsier is
(A) 2-1-3:3/1-1-3-3
(B) 2-1-3-3/2-1-3-3
(C) 2-1-2:3/2-1-3-3
(D) 2-1-2:3/2-1-2-3
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52. SFe) AREE AT oNfFetioE T2 e
SR S G (I ARoTam [ e 2
(A) <BTCEH AT
(B) T w7
(C) o (oNels
(D) (IS Wy AT

53. N3 7 @S T 2fREhoE e
TG AT 2a
(A) TRPHIACIFIN SCRracel T
(B) FifaceT fem
(C) TIznfoHeaerT Fonia
(D) @RI FE

54, (FIEIGIEE O G PG A RS
QIR AT A PR IEE QA o7 20w OIS &
(A) FTOIET TG
(B) ATHRGE SN
(C) SRS GgFeTa
(D) TGS Ggrepsia

55. (F @R (@l (A TG AT I3
ORI e SRR & 2

(A) ©lced R (2 &, 3, fress
(B) B4 TP (AT 3. . A2H
(C) W=l T (AT 2. A6

(D) T Teife] (ATF G35, T

56. TibfIGEE v 5@ 28
(A) 2:1-3-3/1:1:3-3
(B) 2:1:3-3/2:1:3:3
(C) 2:1:2:3/2:1:33
(D) 2:1-2:3/2:1-2°3
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57. Which of the following hominins had 57. FET @9 ABEG S1@nst IRl

obligate bipedality? 2 2
(A) Sahelanthropus (A) >Nczetacgi=
(B) Orrorin (B) s@@ifqv
(C) Australopithecus (C) TZIET AT
(D) Ardipithecus (D) ey A
58. Primate species which are generally active 58. (@ 2RG 2enfs (algfet 1 2RI i

at twilight or at dawn or in dim light are termed as OE SR AT 2, O A0
(A) Nocturnal

(A) TG
(B) Crepuscular (B) (@PRF=TR
(C) Diurnal (C) Wm
(D) Scansoreal (D) FAIRCEs
59. The number of bones in the human 59. < Wﬂ@fﬂm FEETOCG 208 AW 261
appendicular skeleton is (A) 126
(A) 126
B) 146
(B) 146 (C) 140
(C) 140 ©
(D) 110 (D) 110
60. Which of the following features 60. 0 (I ATy @i v SRR v

distinguishes South American monkeys from il @ T v (A e 2

. . 9 .
African and Asian monkeys? (A) @I g Siw0e 4119 5rel 21 @
(A) Grasping fingers and toes AT SIGH

(B) Long, prehensile tail (B) <@l folraeriizst (sier
(C) Presence of clavicle

(C) FfeaEr Toiffe
(D) Binocular vision

(D) IRHFF T



61. Which of the following is one of the major
drawbacks of the cross-sectional growth studies?

(A) It is more expensive than
longitudinal studies.

(B) Ittakes more time thanlongitudinal
studies.

(C) It never reveals individual
differences in the rate of growth or
the timing of particular phases such
as adolescence.

(D) It cannot be used as the basis for
constructing growth standards for
height and weight in a given
community.

62. Which of the following tasks does not fall
within the specific purview of a forensic
anthropologist?

(a) To develop a basic biological
profile of the decedent to aid in
identification.

(b) To administer polygraph test to a
crime suspect.

(¢) To determine the precise cause of
death of the deceased.

(d) Todetermine the minimum number
of individuals and the human/non-
human identity from skeleton
remains.

Codes:
(A) (a) and (b) only
(B) (a), (b) and (c) only
(©) (a), (c) and (d) only
(D) (b) and (c) only

63. Which of the following is the most curved
hair type found among humans?

(A) Wooly
(B) Curly
(C) Frizzly
(D) Pepercorn
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61. T GTIAIET I SR (709 S0 2l
et @& 2
(A) FBHDHCCIE S I |

~

(B) wIiDS fGerieT SIIeeia (5 @71
STICA |

(C) I3 2F Fyfe [eis fomel @i
A {17 91 1 FATRS S PR
NI AP FCE 1 |

(D) @I NS EalSia Thel e ST
Fg T Bize sag fofe ult zre
AT |

62. TP RGN SRS AR TEYS 77

Tea @it 2

(a) Pofze w1 ovea Teaifaaiion (a
(HARFIZe (ofF =1 |

(b) @I S7RH Sfeyrea Afeie
A T |

(¢) @ e Tfea Jge Ao
e faefa 1 |

(d) TFE SRR (AF TR /-
T ke e =4 |

P8
(A) (PTG (a) € (b)
(B) (PTG (a), (b) @ (c)
(C) (PTG (a), (c) € (d)
(D) (<=4 (b) € (c)

63. SIHF (I 4JG0 ANFTIEIT Ao ol 2
(A) T
(B) =ifef
(C) Trefer
(D) (oA7@R
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64. Given below are two statements, one is
labelled as Assertion (A) and the other is labelled
as Reason (R):

Assertion (A): Humans are similar to
other mammalian
species in conforming
to the classic ecological
rules of Bergmann
(1847) and Allen
(1877).

: Boththeecological rules
document the
relationships between
body physiology and
climate.

In the context of the above statements,
which of the following is correct?
Codes:
(A) Both (A) and (R) are correct, and
(R) is the correct explanation for
(A).
(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
for (A).
(C) (A) is correct, but (R) is incorrect.
(D) (A)is incorrect, but (R) is correct.

Reason (R)

65. Match the items of List-I with those
of List-II:

List-1 List-11
(a) Savanna baboon (i) South, Central and
East Africa
(b) Vervet (i1) East Africa
(c) Patas (i11) Sub-Saharan Africa
(d) Gelada (iv) Central and East
Africa
Codes:

@ G @© @@
A) Gi) G Gv)  @®
B) G @ Gv) (D)
© Gy Gv) @ (i)
D) Gv) aGi) G @O

64. 0 b T&7 (el BTz, 930 [0 (A),
wo=G 79 (R) &wia bz ¢
R3fE(A) ¢ Fofia (1847) € IR
(1877)-F© AEgeCEd FIFRR
TR (I 5 |

FFY(R) ¢ AESEAD Nfo2 FEATTIS
8 ARER 7T e 3 |

&3 T4 (@RS Ao @I Ao

(PIo:

(A) (A) € (R) Tow@ AT, 4R (A)-93
A5 A1 25 (R) |

(B) (A) € (R) Terz A, 78 (A)-93
A5 A 7T (R) |

(C) (A) #Afo=s, € (R) 7% 1 |
(D) (A) 7o 77, 5% (R) AS |

65. Oferpl-I-93 AT O~ (e ¢

©lferel-I ool
(a) MMl RIF (i) wfERel, W& @ s sl
(b) SECSH (i) =% wrifersl
(c) TGP (iii) == e
(d) coreTmi (iv) T 8 7K =nferl
T S

@ G @© @@
A) Gi) G Gv)  @®
B) Gi) @ Gv) (D)
© Gy Gv) @ (i)
D) Gv) aGi) G @O
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66. Given below are two statements, one is
labelled as Assertion (A) and the other is labelled

as Reason (R):

Assertion (A): The main line index of

Reason (R)

the palm is the
summational value of
the main lines
D and A.

: The highest termination

of these main lines have
been observed to be 5
and 17.

In the context of the above statements,
which of the following is correct?

Codes:

(A) Both (A) and (R) are correct, and
(R) is the correct explanation for

(A).

(B) Both (A) and (R) are correct, but
(R) is not the correct explanation

for (A).

(C) (A) is correct, but (R) is incorrect.
(D) (A) is incorrect, but (R) is correct.

67. Match the items of List-I with those of

List-1I:
List-1

List-11

(a) Head circumference (i) Adolescents

(b) Weight-for-
stature

(c) Shoulder-hip
relation

(d) BMlI-for-age
Codes:

(@)

(A) (@iv)

(B) (i)

(C©) (i)
(D) (iii)

(i1) Children and
adolescents
(i11) Preadolescent

(iv) Pre-school children

®) (© (@
(i) (1) (i)
(i)  (Gv) ()
(iv) @) @)
»H Gy (@Gv)
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66. s wib Te (el wicE, ¢ 7310 (A),
wo=G 79 (R) &wia bz ¢
R3S (A) ¢ D8 A (4 o121 (ore 2
ORI (I 12e 20T |
FIFI(R) 2 €3 @I eMzaalem sifes S
2z 5€ 171

3 TSE@I9 (@fFFce @It A
(PO

(A) (A) € (R) Toz AlGF, 932 (A)-47
A5 A1 =5 (R) |

(B) (A)€ (R) Ter@z A5, 5@ (A)-«7
A AN 77 (R) |

(C) (A) 75, @ (R) AfoF 771 |
(D) (A) 76 77, 5% (R) AS |

67. OIfep--9A AT O~ (e ¢

olfersp-1 ool
(2) (RO ATINFCI (1) TN @R
(b) STH-FIOIBE (i) Pie ¢ TweAfeg
(TG
ORIEMERE (i) = IWAf®
fcem =
(d) RameiR-wa-ga  (iv) 2g-Ruper e
1T ¢

@ G @© @@
A) Gv) aGi) @@ ()
B) @G @) Gv) @
© Gy Gv) G @O
D) (i) @ G (Gv)
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68. Which of the following components of body 68. STSUIFY FeT AT AG AF (2T SEED
weight decreases proportionally in fetus with I SoAMIFG @il SilifeFeica g #iF 2
increase in gestational age? (A) &=
(A) Water
(B) Fat (B) =
(C) Phosphorus (C) e
(D) Calcium (D) WIS
69. Given below are two statements, one is 69. fF 1{% TG ST W, G0
lab;lled as(z;les)sertion (A) and the other is labelled 7%77%( A), w1145 #199(R) R B ¢
as Reason (R):

Assertion (A) : Fatness or thickness, as [ (A) ¢ STRG-TR-(°TE 2T 71 (T02F
indexed by weight-for- ZeTol Al POl (e *Te s
length  reflect  the AR Al OFleTe I |
magnitude of body energy . -
store or reserve. #1399 (R) o= ;ﬁ ‘2\152[ 5

Reason (R)  : It neither increases nor & 4
decreases  due  to T M P

unbalanced changes in
either energy intake or
energy expenditure. (PIC:

In the context of the above statements, SO 0 .
which of the following is correct? (&) (A)e(R)Ter AR (A)y-aq

3 IS4 (@fFFce o @t B

) AfoF 17 29 (R) |
Codes:
(A) Both(A)and (R) are correct, and (R) is (B) (A)8 (R) Terz A, 58 (4)-93
the correct explanation for (A). A A 7T (R) |
(B) Both(A) and (R) are correct, but (R) is 5 5
not the correct explanation for (A). © @) e (B) T
(C) (A) is correct, but (R) is incorrect. (D) (A) 0= 77, 5@ (R) A= |
(D) (A) is incorrect, but (R) is correct.
70. Which one of the following is the 70. (EEHS @D ASTON [T Ao HIAG 2
mostappropriate explanation for genetic (A) TR S et 271 26919

drift?

(A) Reduced genetic variability due to
drastic reduction in population size

T (SO oy fRfet s e
(B) GRPRANT SFFRE Rofe1 Jana 0T

o~

@S et @re e

(B) Increased genetic variability due to

drastic increase in population size (C) GPRAE S [5je Jad e,
(C) Reduced genetic variability due to (LT SISRANSIET0 S e

drastic increase in population size (D) TPRAN WG [ojet 271 2834
(D) Increased genetic variability due to T (SEvs Ot @reaie

drastic reduction in population size



71. Edwards and Cavali-Sforza (1963, 1964)
reconstructed a tree of extant human population
based on the frequencies of blood group
alleles, using an approach called the

‘Method of "

(A) Maximum evolution

(B) Minimum evolution

(C) Auxiliary principle of evolution
(D) Ontological parsimoni

72. Given below are two statements, one is
labelled as Assertion (A) and the other is labelled
as Reason (R):

Assertion (A): Molecular Anthropology
is one of the subfields of
Biological Anthropology.

: Development in

Molecular Anthropology

is due to the

advancement in the

Human Genome Project.

In the context of the above statements,
which of the following is correct?

Codes:

(A) Both(A)and(R) are correct, and (R) is
the correct explanation for (A).

(B) Both(A)and (R) are correct, but (R) is
not the correct explanation for (A).

(C) (A)is correct, but (R) is incorrect.
(D) (A) is incorrect, but (R) is correct.

Reason (R)

73. Which of the following is an
incorrect match?

Genotype of parents  Possible blood group
of children

(A) I"TAx19T° A

(B) I"IBxIAIB A, B or AB

(C) I°1°x1°1° 0]

(D) I"IOx 1A B A,BorO
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71. @TETE G FeIfFT-T=FE (1963, 1964)
TG See e fefers T s
@3 RAET91 I T5eTl I @ e (A, OF
Tl 2T ((NUAT TF |

(A) OIS GgRe

(B) farferstisr «rgrepie

(C) Tz f2fsieNe e agea
(D) SICHlefema At

72. fCF 9i Te9 @R, 9 @6 [/ (A) €
oG #79 (R) fewia bz ¢

RIE(A) ¢ Tl JRelE g0 =12 2e1
Nferpena el |
FI59(R) ¢ wfegens qferms e

zfes f2anie fes etess
Tgaifed I |

«3 (@fFFre ANod @« TSHH AT ?
(PIo:

(A) (A) € (R) Torz 75, @32 (R) &1

(A)-a3 AT 7= |

(B) (A) € (R) Tew@z A5, € (A)-«7
A A T (R) |

(C) (A) #Afo=s, € (R) 7% 1 |
(D) (A) 7o 77, 5% (R) AT |

73. qwa @ &It AoE 772

e e
feraiziz=t BT TG
(A) IPTAx IO A
(B) AIBxIA B A, B or AB
(C) I°I°xI°1° 0
(D) IPIOx A B A,BorO

[ Please Turn Over ]
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74. Given below are two statements, one is 74. x4l Ie T@E, 93 G [IE (A),

labelled as Assertion (A) and the other is labelled oS 79 (R) R e ¢
as Reason (R): ' ]

Assertion (A): Inapopulation, persons 3o (A) 2 (@ISR, MM (Sbs
possessing MM T=5w [TET MN € NN
genotypehadaselective (EEIRAGS W (AT
advantage over MN and BIGEIIRS S INCICADTATRS]
NN genotypes. % @ |

Reason (R) - gi\lfe;“dlzld“aglrse;i‘; P79 (R) 2 MM Jfema Saes a1 SiEgs
likelihood of surviving Wmﬂ WWOW R 72 ﬂsﬂmﬁ cafe
orahigherreproductive REIS IHF AGI |
success or both. B ISR (2ifFwrs, oa @b Al 2

In the context of the above two statements, @G
which of the following is correct? 3
Codes: (A) (A) @ (R) Tor A, @R (A)-97
(A) Both (A)and (R) are correct, and (R) is AT I 29 (R) |
the correct explanation for (A). B) (A) € (R) Ter s, 8 (A)-93
(B) Both (A) and (R) are correct, but(R)is 5 g1l (R) |
not the correct explanation for (A).
(C) (A)is correct, but (R) is incorrect. (©) (A) =, 5 (R) 7Mo% =3
(D) (A)is incorrect, but (R) is correct. (D) (A) 76 77, 5% (R) A |
75. Given below are two statements, 75. 190K 96 TS TQ0E, G0 [0 (A), W70

one is labelled as Assertion (A) and the 179 (R) BoiE fbofers ¢
other is labelled as Reason (R): S(A) ¢ foama R S
/%?; o B \

Assertion (A) : dDeI;IQOflncigte)rprmtmg was - (1984) | €=
ped by Alee Jeffreys e {

(1984), after he noticed that et fofd o, orere femel

certain sequences of highly @ & @7 -7 (RPTIG=IRE)

variable DNA o e aEe @elE

(minisatellite) which donot fercra IR @il SRR

contribute to the functions

. qF =, e ©l o
of genes, are repeated with

genes. Toifge 20w AT |

Reason (R)  : Jeffreys recognised that FFI(R) 3 (T ﬁ:\ mm Ejfa Jred
each individual has a G0 F0F I e R T[ICOETIRD
unique  pattern  of B ANCF, GFNG AP T
minisatellites, except the 7ol |

indentical twins.

3 e (2fFFce Nod @t A
In the context of the above two

statements, which of the following is 1o s
correct? (A) (A) 8 (R) Torz A, 938 (A)-93
Codes: AfoF 17 29 (R) |
(A) Both (A)and (R) are correct, and (R) is (B) (A) e (R) Torz A, [5e (A)-97
5 glet}cl(ar)ect zy?;lfnation fort(zg ).t ") 5 iy 77 (R) |
® n(())t the C(E)l?rect e;;:acn(;rizi ’foll (A). N (©) (4) o=, € (R) 1o a1
(C) (A)is correct, but (R) is incorrect. (D) (4) o< 73, e (R) izl

(D) (A) is incorrect, but (R) is correct.



76. A researcher wishes to find out the impact

of awareness programes on HIV-AIDS on different
age groups. What type of random
sampling method should the researcher
adopt?
(A) Purposive
(B) Stratified
(C) Multiphase
(D) Multistage

77. Match the items of List-I with that of
List-II
List-1 List-11
(a) Autosomal dominant (i) Tay-Sachs disease

(b) Autosomal recessive (ii) Duchene muscular
dystrophy
(¢) X-linked dominant (iii) Huntington’s
disease
(d) X-linked recessive (iv) Hypophatemic
rickets

Codes:

@ b (© (@
(A) i) (1) Gv) (i)
B) Gi) Gv) @ (i)
© Gv) (@) Gy @)
(D) Gi) (@) Gv) (@)

78. Which of the following statements are
correct related to the classification on Indian
populations made by S.S. Sarkar?

(i) Dolichocephalic as the
predominant type of Indian
populations

(ii)) Mesocephalic and brachycephalic
types are restricted to some regional
populations.

(iii) Six major racial elements
(iv) Considered Indo-Aryans as
mesocephals

Codes:

(A) (i) and (ii) only

(B) (ii), (iii) and (iv) only
(©) (1), (i) and (iii) only
(D) (i) and (iii) only
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76. G 9IS [feq T@ANDIF TG G3p AR
& @3 ool (AT 2o @4Ce BiF| F
LA e o fofdl Facae 2

(A) ARCAPTS
(B) Fibwie
(C) Nforrer
(D) WFGEoE

77. Olfep-I-93 AT O~ e ¢

olfere-1 olferspI-11
(a) SIGICSINE SR (1) ©iz-7 ffere
(b) SICBICEIE FETe (i) St e TSGR
(c) XY® RIS (iii) T0H fefere
(d) X-ige [Ehre  (iv) Remnhe s
(1T 2

@ G @© @@
A) Gy @ (v (1)
B) @Gi) Gv) @@ (D)
© Gv) aGi) G O
D) G @) Gv) @

78. &1 G FIDE FO ST GBI
EffReraEa @Fa Nea @9 aerE T

(i) SIS G SRS ATE
(i) (FICA (I wiefeEs Gassice

AT ¢ e AN
(ill) FANE TAMIT 2A4ITS TAH
(iv) - EE FEAICRRS BETE iy 541 |

(T2
(A) (PTG (1) € (ii)
(B) (<eTIq (ii), (iii) € (1v)
(C) (FIeTE (i), (i1) @ (iii)
(D) (PTG (1) € (iii)

[ Please Turn Over ]



26

79. Which of the following growth curves is
not referred in Scammon’s growth curve (1930)?

(A) Neural
(B) General
(C) Lymphoid
(D) Somatic

80. Which of the following is not considered as
a vital event in demography?

(A) Marriage
(B) Migration
(C) Death
(D) Birth

81. The Maglemosian Culture of
Mesolithic period is distributed over

(A) Balkans region

(B) Denmark and Sweden
(C) France and Spain

(D) Alps region

82. The Laurel and Willow leaf-shaped points
are the characteristic tool types of

(A) Solutrean culture
(B) Magdalenian culture
(C) Gravettian culture
(D) Aurignacian culture

83. The rock-art of Upper Palaeolithic Europe
flourished most during

(A) Aurignacian culture

(B) Maglemosian culture
(C) Magdalenian culture
(D) Solutrean culture

X-26

79. A (@ IS (1930) Fma @i e
FSHT T #7132
(A) fTeaE
(B) (G
(C) Terwre
(D) @IS

80. (T (AR NEd (T SR
30T T2

(A) farR

(B) SIfeamH

©) T9

(D) &7

81. 52 JCI ISR A o (it feed
(A) THA T
(B) (TSI @ HB(GA-9
(C) TG (-4
(D) ST SR

82. ST @ TR o 26 (3 A<Foe (g
i 21

(A) T8 FS

(B) SloToItTl <gfe
(C) aifebrr sicgfo

(D) SR 3o

83. T @ e T SjFIewT ool Ao
e 2rfRs @ @ ©f 26
(A) SfRsiEPRIN 7o
(B) SylelcTeNraIe A<Efe
(C) SereIsTaN gfe

(D) g ES
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84. The Ochre Coloured Pottery (OCP) is a
characteristic ware type of proto-historic India
dated between

(A) 2000 and 1500 BCE
(B) 1000 and 100 BCE
(C) 1200 and 500 BCE
(D) 100 BCE and 500 CE
85. The earliest evidence of rice cultivation in
India is known from
(A) Navadatoli in the Narmada valley.

(B) Daojali Hading in the hill tracts of
Assam.

(C) Daimabad in the valley of Pravara.
(D) Lahuradeva of the Middle Ganges.

86. The most common animals depicted in
prehistoric Rock-Art were

(1) Bison

(i1) Horse

(iii) Bull

(iv) Hippo

Codes:

(A) (i) and (ii)
(B) (ii) and (iii)
(C) (iii) and (iv)
(D) (i), (i1) and (iii)

87. Volcanic glass and volcanic ash are used for
the calibration of the age of archaeological sites
belonging to

(A) Neolithic period

(B) Megalithic period
(C) Mesolithic period
(D) Palaeolithic period

88. The Thellasostatic terraces are formed at the
(A) mouth of the river.
(B) origin point of the river.
(C) flood plains area of the river.
(D) meanders of the river.

84, ST FEAFC 261 (8 &1 1) @ FwTieTa
AR-afoRFrRs Aeghon fawsfa wix S =1

(A) 2000 — 1500 &F@
(B) 1000 — 100 @
(C) 1200 — 500 &
(D) 100 f&f12 - 500 F12

85. SIACe Y9 HIET Aibiaow fvfa s
Q[

(A) T TSR ASWGANCS |

(B) “MafeoicRnesife -« |
(C) WIRAM, 299 9 Soleie |
(D) TSN, TSN ST |

86. 2itsfezitiF ez fora_wr @ @ aifeferm
o@ el (oltz Gl 2o
() =
(i) c=rel
(iii) A®
(iv) Eegel
(IS
(A) ()€ (i)
(B) (ii) 8 (iii)
(C) (iii) @ (iv)
(D) (1), (ii) 8 (iii)
87. TEHIS 2P @ eI Su sjArelfes
(IR (@ e i Tz z@ee, (it 2@
(A) TUATI
(B) walferies
(C) W%
(D) iz

88. CEAIPIPOITT (BTt #Ne I
(A) 7= R |
(B) e Gesifaze |
(C) T IS ST |
(D) TaF FF-91
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89. The Hunsgi, an archaeological site was
systematically studied by

(A) H.D. Sankalia
(B) V.N. Misra
(C) K. Paddayya
(D) R.V.Joshi

90. The Chopanimando, a Mesolithic culture
bearing site is located in the valley of

(A) Son
(B) Belan
(C) Hakra
(D) Kosi

91. In archaeology, ‘varve’ refers to

(A) a tool type of prehistoric
cultural phase.

(B) atool fabricating technology.

(C) a substratum of geological
episode.

(D) a sediment to calibrate time
and age.

92. Whoinitially conceptualized the idea of the
process of ‘Site formation’?

(A) M. B. Schiffer
(B) Miles Burkitt
(C) D. L. Clark

(D) Francois Bordes

93. The evidences of fire altars and ploughed
field were discovered at

(A) Nagarjunakonda
(B) Gilund

(C) Kalibangan

(D) Sanganakallu

X-28

89. IPRALESIR 27l “JATOIGE CFabH ST
A

(A) @2p. fo. ARSI
(B) f©. @, frt

(C) . A

(D) w9 fe. camr

90. AT AT IS (Fab
@ T TG AeT T OF 7N

(A) GT+

(B) (=7

©) z=dt

(D)

91. SJACG ST TS IS @RI
(A) altsfoaie Acghed wmgy |
(B) ey fersficeiar et |
(C) TV 916 T |
(D) 5 8 T Fefza el @i B |

92. ARG TeHE el 2t w6t @
(SR 2

(A) @ 7. e
(B) wiZem If<H
(©) fo. =, T
(D) TIE @

93. wIfacaml ¢ Fffe ol wfvw z@E @ ¢,
@1 e
(A) AN
(B) forgm
(C) Jiferarsie

(D) AT
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94. Given below are two statements, one is 94, FCF i 69 @R, G0 [ (A) Sl
labelled as Assertion (A) and the other is labelled #1799 (R) B Hize ¢

as Reason (R):

Assertion (A): The Great Indus Valley Rafo(a) R Fr steret cfb 3500 -
Civilazation flourished 1500 fafiE-ce eIl
during 3500— 1500 BCE ToRIRIMCR e~ G0 Ko
over the North—Wgstern 2, Sressia e 9|
Indian sub-continent )
vanished subsequently. P79 (R) ¢ SR NG| G2 IR ACTOIF

Reason (R) : Onlythe Aryaninvasion R @G P29 e |

is attributed to the cause
of decline of such a
. eqe . o =~
great civilization. 93 (2T, A @G AT 2

In the context of the above two statements, 5
which of the following is correct? &) (4)e (R) == l

Codes: (B) (A) A, € (R) 7o T

(A) (A) and (R) are correct. (C) (A) 75, &€ (R) A< A=yl 77 |

(B) (A) is correct, but (R) is incorrect.

(C) (A)is correct, but (R) is not correct (D) (A)e (R) o |
explanation.

(D) (A) and (R) are incorrect.

95. Given below are two statements, 95. fF b I A@E, 9 [0 (A), Weial

one is labelled as Assertion (A) and the BT Hizw 2
other is labelled as Reason (R): 17 (R) °

Assertion (A) : The horse-shoe lake 7%77%(‘4) SRR W‘Q{‘ﬂf?]’?%
systems of the Gangetic FET ARRASET N
valley had been critical for qJ971TeT I oFeE
the development of @W"i"fmﬁﬁil
secondary urbanization in
India. P9 (R) ¢ SN Sed [ion sfarelfes

Reason (R) : The evidence of Northern cFaufe CWW‘@WWW
Black Polished (NBP) ST (@ T ) )_{T%_% @
culture and metal objects ) A
of iron discovered at (IS AE ey ormaers
various archaeological sites AR A R |

from the Gangetic region
attest the urbanization

&3 (AfFCS, A @G AT 2

process. (FIes
In the contht of the abovq tw‘o (A) (A) € (R) WW%I
statements, which of the following is
correct? (B) (A) 7=, f5@ (R) Ao 7711
Codes: (©) (R) A=, g (A) A= 7711
(A) (A) and (R) are correct. (D) (A) 8 (R) @I 70 73|

(B) (A) is correct, but (R) is incorrect.
(C) (R) is correct, but (A) is incorrect.
(D) Both (A) and (R) are incorrect.

[ Please Turn Over ]
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96. Match the items of List-1 with those of List-11: 96. SIfeTA--43 A Ol (eI ¢
olferm-l ORI
(a) AP eAE (i) Sl Afer=
(b) GTSIITCTOE (i) 29 ZeF
wnffesfe
List-I List-II (c) Coers wiffese (i) @B e
(a) Ethnoarchaeology (i) Karl Butzer (d) 2ePRIE wiffesie  (iv) . Bl ole
(b) Environmental (i1) Ian Hodder
Archaeology
(c) Settlement (111) M.C. Stanislawski
Archaeology T
(d) irrc;iil?(l)llz:)lgy (iv) K.C. Chang @ ® © @
, (A) i) @Gv) @ (i)
Codes:

@ ) (© (@ (B) (u) (%) (%v) (i.i.i)
(A) (i) @Gv) @) (i) © i) (1)  aGv) (i)
(B) (i) () (v) (i) (D) Gv) Gi) (@) (i)
© @Gi) G @Gv) o Gi)

(D) @Gv) Gi) @G (i)

97. Match the items of Lisz-I with those of List-11 97. CfTR--OIACT ORI~ el 2
List-1 List-11
(a) Fluted core (i) Chopper-Chopping wiferi-1 wifer-l
(b) Block-on-block (i) Discoids (a) FET @ (i) BAR-BHR
(c) Levallois (iii) Thin and slender (b) FF-TI-g<F (i1) ‘I%W’\WI
blades (c) GTOrR (iii) IToeT @ =Fiel (F©
(d) Tortoise core (iv) Scrapers and points (d) T @I @iv) WW@W
Codes: (I e
@ G (© (@@ @ @ © @
(A) (i) () @Gv) (i) (A) i) (1) Gv) (i)
(B) Gii) () Gi) (iv) B) i) @ G (Gv)
©) @v) i) () (i) © Gv) @) @ (@)

(D) (i) (v) (@ii) () D) () (Gv) @) @)



98. The Bhimbetka— the world heritage site is
famous for its

(1) number of caves and rock-shelters.
(i1) rock-art.

(iii) varied prehistoric culture bearing
deposits.

(iv) epigraphical records.
Codes:
(A) (i) and (ii) only
(B) (ii) and (iii) only
(C) (iii) and (iv) only
(D) (i), (i1) and (iii) only

99. Arrange the sequential order of the tools
that appear from early to late prehistoric
cultures:

(A) Biface — Celt — Geometric
Microlith — Burin

(B) Burin — Biface — Celt —
Geometric Microlith

(C) Burin — Celt —
Geometric Microlith

Biface —

(D) Biface — Burin — Geometric
Microlith — Celt

100. The Neolithic—Chalcolithic Culture bearing
sites are mostly found in the state of

(A) Maharastra
(B) Tamil Nadu
(C) West Bengal
(D) Kashmir

X-31 26

98. ST EAGE g BrEIE SiNcesa ifed
]9

(1) T2 MYT T € AN
(ii) w2l P
(iii) @itoforPre amm Aeghon fawsa
(iv) af=teyifrg fawed
P8
(A) (PTG (1) € (ii)
(B) (<=TIE (ii) '8 (iii)
(C) (<eTE (iii) 8 (iv)
(D) (TG (1), (ii) 8 (iii)

99. Wi (AT IS etsiforFre AFion
S AT TeEFEE A ¢

(A) IBEA — @6 — (e
Mereriferd — I

(B) 3w — 2 — 75 — el

PIECRIEE]

(C) I — S — AR — fGemhe
PIECRIEE]

(D) aiztEn — Ifa — foewls
TR — G706

100. THHTT-SAI AeFrow fwelaaial craefer
IETS (I AT 2Ned T, G 25
(A) =g
(B) wifiEre
(C) sifparast
(D) S
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